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Determinants — Class XII

Example-1
Show that,
1 bc a(b+c)
A=11 ca b(c+a)|=0
1 ab c(a+b)

Hint: Use property 9 on column 3. Change C3 as sum of C3 and C,.

Example-2

Show that,
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ab

=(a—-b)(b—c)(c—a)
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Hint: Use property 9 repeatadly on appropriate rows.

Example-3

This question is based on the concept of triangle area. Lots of question have been asked from this concept
in JEE Mains exam over the years. Basic concept is given as,

If ALY ), BO,y.) and C(x,,y.) are the vertices of a triangle

thenits areais:

X, Y, 1
Area of AABC = 1? X, V. 1
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Areaof AABC =

Example-4 — JEE Mains 2014

65. Ifo, B#0,and fin) = " + f" and
3 1+ f(1) 1+f(2)
1+ f(1) 1+f(2) 1+f(3)
1+ f(2) 1+f(3) 1+f(4)
= K(1 - a)? (1-pB)? (o - P)? then K is equal to
M1 2 -1
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Answer (1)

1+1+1 1+0+p 1+0’+p°
sol. | 1+a+p 1+a?+p? 1+a’+p?
1+a+p> 1+0’+p® 1+0*+p*
1 1 1 1 @ o
=la B 1x[1 p p*
o2 B2 1 11 1
=[1- o)1 -B)1-B)I
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